

British Council Partner Schools

January 2024 session Pearson Edexcel IAL Pricelist



Price List

IAL

Subject Name	Award Structure	Unit Code	Total Fee (JOD)Normal Stage	Total Fee (JOD) Late Stage
ARABIC 1	AS Level	WAA01	141.00	282.00
ARABIC 2	A2 Level	WAA02	149.00	290.00
ACCOUNTING 1	AS Level	WAC11	149.00	290.00
ACCOUNTING 2	A2 Level	WAC12	149.00	290.00
BIOLOGY 1	AS Level	WBI11	73.00	153.00
BIOLOGY 2	AS Level	WBI12	73.00	153.00
BIOLOGY 3	AS Level	WBI13	73.00	153.00
BIOLOGY 4	A2 Level	WBI14	73.00	153.00
BIOLOGY 5	A2 Level	WBI15	73.00	153.00
BIOLOGY 6	A2 Level	WBI16	73.00	153.00
BUSINESS 1	AS Level	WBS11	96.00	192.00
BUSINESS 2	AS Level	WBS12	96.00	192.00
BUSINESS 3	A2 Level	WBS13	96.00	192.00
BUSINESS 4	A2 Level	WBS14	96.00	192.00
CHEMISTRY 1	AS Level	WCH11	73.00	153.00
CHEMISTRY 2	AS Level	WCH12	73.00	153.00
CHEMISTRY 3	AS Level	WCH13	73.00	153.00
CHEMISTRY 4	A2 Level	WCH14	73.00	153.00
CHEMISTRY 5	A2 Level	WCH15	73.00	153.00
CHEMISTRY 6	A2 Level	WCH16	73.00	153.00
DEC.MATHEMATICS 1	A2 Level	WDM11	81.00	161.00
ECONOMICS 1	AS Level	WEC11	96.00	192.00
ECONOMICS 2	AS Level	WEC12	96.00	192.00
ECONOMICS 3	A2 Level	WEC13	96.00	192.00
ECONOMICS 4	A2 Level	WEC14	96.00	192.00
ENGLISH LANGUAGE 1	AS Level	WEN01	96.00	192.00
ENGLISH LANGUAGE 2	AS Level	WEN02	96.00	192.00
ENGLISH LANGUAGE 3	A2 Level	WEN03	96.00	192.00
ENGLISH LANGUAGE 4	A2 Level	WEN04	96.00	192.00

ENGLISH LITERATURE 1	AS Level	WET01	96.00	192.00
ENGLISH LITERATURE 2	AS Level	WET02	96.00	192.00
ENGLISH LITERATURE 3	A2 Level	WET03	96.00	192.00
ENGLISH LITERATURE 4	A2 Level	WET04	96.00	192.00
FURTHER PURE 1	Maths Unit	WFM01	81.00	161.00
FURTHER PURE 2	Maths Unit	WFM02	81.00	161.00
FURTHER PURE 3	Maths Unit	WFM03	81.00	161.00
FRENCH 1	AS Level	WFR01	114.00	210.00
FRENCH 2	AS Level	WFR02	96.00	192.00
FRENCH 3	A2 Level	WFR03	114.00	210.00
FRENCH 4	A2 Level	WFR04	96.00	192.00
GEOGRAPHY 1	AS Level	WGE01	96.00	192.00
GEOGRAPHY 2	AS Level	WGE02	96.00	192.00
GEOGRAPHY 3	A2 Level	WGE03	96.00	192.00
GEOGRAPHY 4	A2 Level	WGE04	96.00	192.00
GERMAN 1	AS Level	WGN01	114.00	210.00
GERMAN 2	AS Level	WGN02	96.00	192.00
GERMAN 3	A2 Level	WGN03	73.00	168.00
GERMAN 4	A2 Level	WGN04	96.00	192.00
HISTORY 1	AS Level	WHI01A	96.00	192.00
HISTORY 1	AS Level	WHI01B	96.00	192.00
HISTORY 1	AS Level	WHI01C	96.00	192.00
HISTORY 1	AS Level	WHI01D	96.00	192.00
HISTORY 2	AS Level	WHI02A	96.00	192.00
HISTORY 2	AS Level	WHI02B	96.00	192.00
HISTORY 2	AS Level	WHI02C	96.00	192.00
HISTORY 2	AS Level	WHI02D	96.00	192.00
HISTORY 3	A2 Level	WHI03A	96.00	192.00
HISTORY 3	A2 Level	WHI03B	96.00	192.00
HISTORY 3	A2 Level	WHI03C	96.00	192.00
HISTORY 3	A2 Level	WHI03D	96.00	192.00
HISTORY 4	A2 Level	WHI04A	96.00	192.00
HISTORY 4	A2 Level	WHI04B	96.00	192.00
HISTORY 4	A2 Level	WHI04C	96.00	192.00
HISTORY 4	A2 Level	WHI04D	96.00	192.00
PURE MATHEMATICS 1	Maths Unit	WMA11	81.00	161.00
PURE MATHEMATICS 2	Maths Unit	WMA12	81.00	161.00
PURE MATHEMATICS 3	Maths Unit	WMA13	81.00	161.00
PURE MATHEMATICS 4	Maths Unit	WMA14	81.00	161.00
MECHANICS 1	Maths Unit	WME01	81.00	161.00
MECHANICS 2	Maths Unit	WME02	81.00	161.00
MECHANICS 3	Maths Unit	WME03	81.00	161.00
PHYSICS 1	AS Level	WPH11	73.00	153.00

PHYSICS 2	AS Level	WPH12	73.00	153.00
PHYSICS 3	AS Level	WPH13	73.00	153.00
PHYSICS 4	A2 Level	WPH14	73.00	153.00
PHYSICS 5	A2 Level	WPH15	73.00	153.00
PHYSICS 6	A2 Level	WPH16	73.00	153.00
PSYCHOLOGY 1	AS Level	WPS01	96.00	192.00
PSYCHOLOGY 2	AS Level	WPS02	96.00	192.00
PSYCHOLOGY 3	A2 Level	WPS03	96.00	192.00
PSYCHOLOGY 4	A2 Level	WPS04	96.00	192.00
SPANISH 1	AS Level	WSP01	114.00	210.00
SPANISH 2	AS Level	WSP02	96.00	192.00
SPANISH 3	A2 Level	WSP03	114.00	210.00
SPANISH 4	A2 Level	WSP04	96.00	192.00
STATISTICS 1	Maths Unit	WST01	81.00	161.00
STATISTICS 2	Maths Unit	WST02	81.00	161.00
STATISTICS 3	Maths Unit	WST03	81.00	161.00
ARABIC	Cash in	XAA01	0.00	12.00
ACCOUNTING	Cash in	XAC11	0.00	12.00
BIOLOGY	Cash in	XBI11	0.00	12.00
BUSINESS	Cash in	XBS11	0.00	12.00
CHEMISTRY	Cash in	XCH11	0.00	12.00
ECONOMICS	Cash in	XEC11	0.00	12.00
ENGLISH LANGUAGE	Cash in	XEN01	0.00	12.00
ENGLISH LITERATURE	Cash in	XET01	0.00	12.00
FURTHER MATHEMATICS	Cash in	XFM01	0.00	12.00
FRENCH	Cash in	XFR01	0.00	12.00
GEOGRAPHY	Cash in	XGE01	0.00	12.00
GERMAN	Cash in	XGN01	0.00	12.00
HISTORY	Cash in	XHI01	0.00	12.00
MATHEMATICS	Cash in	XMA01	0.00	12.00
PHYSICS	Cash in	XPH11	0.00	12.00
PURE MATHEMATICS	Cash in	XPM01	0.00	12.00
PSYCHOLOGY	Cash in	XPS01	0.00	12.00
SPANISH	Cash in	XSP01	0.00	12.00
ARABIC	Cash in	YAA01	0.00	12.00
ACCOUNTING	Cash in	YAC11	0.00	12.00
BIOLOGY	Cash in	YBI11	0.00	12.00
BUSINESS	Cash in	YBS11	0.00	12.00
CHEMISTRY	Cash in	YCH11	0.00	12.00
ECONOMICS	Cash in	YEC11	0.00	12.00
ENGLISH LANGUAGE	Cash in	YEN01	0.00	12.00
ENGLISH LITERATURE	Cash in	YET01	0.00	12.00
FURTHER MATHEMATICS	Cash in	YFM01	0.00	12.00

FRENCH	Cash in	YFR01	0.00	12.00
GEOGRAPHY	Cash in	YGE01	0.00	12.00
GERMAN	Cash in	YGN01	0.00	12.00
HISTORY	Cash in	YHI01	0.00	12.00
MATHEMATICS	Cash in	YMA01	0.00	12.00
PHYSICS	Cash in	YPH11	0.00	12.00
PURE MATHEMATICS	Cash in	YPM01	0.00	12.00
PSYCHOLOGY	Cash in	YPS01	0.00	12.00
SPANISH	Cash in	YSP01	0.00	12.00